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Questions

A bermouth holst introduced integer in the year

The number..... together with the natural number gives us whole numbers

Which of them are the numbers that we can find in nature.

The numerical value of -345 is

The absolute value of a number is its distance from

On number line the distance between any two integers is always.

An integer whihc is neither positive nor negative.

Integers are consisted of.

The set of integer is mostly denoted by English capital letter.

---------- of two or more number is a greatest number which divides all the given numbers.

Answers Choice

. 1562
. 1563
. 1564
. 1565

.0
.10
.100
. 1000

. Natural numebrs

. Rational numbers
. Irrational numbers
. Whole numbers
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A. 345
B. -345
C.34
D. 3405
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. Equal

. Doubled
. Half

. Triple

WN = O

. Only positive whole numbers.
. Only negative whole numebr
C. Positive and negative whole
number

D. Positive and negative whole
number with zero
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A L.CM

B. HC.F
C.Bothaandb
D. None of these



